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import sys
sys.path.append("statlib")
from xtest import oneway_ANOVA

oneway_ANOVA(x, g=None, var_equal=False, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import oneway_ANOVA2

oneway_ANOVA2(n, m, u, var_equal=False, verbose=True)
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import sys
sys.path.append("statlib™)
from xtest import oneway_ANOVA

a = oneway_ANOVA([3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],
[1! 1! 2! 17 ’ L 1! b 1! 2! ’ 2! 1! 2’ 2])

One-way analysis of means(not assuming equal variances)

F = 0.19301, dfl =2, df2 = 5.9323, p value = 0.82945
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b = oneway_ANOVA([3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],
["a", "a", "b", "a", "c", "c", "a", "c", "a", "b",
llbll’ Ilbll’ llall’ Ilbll’ llbll])

One-way analysis of means(not assuming equal variances)
F = 0.19301, dfl =2, df2 = 5.9323, p value = 0.82945

3.2 f{ERHI2
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c = oneway_ANOVAC[[3, 2, 2, 4, 3, 5],
(4, 1, 3, 4, 4, 5],
[3, 5, 311D

One-way analysis of means(not assuming equal

variances)




F = 0.19301, dfl =2, df2 = 5.9323, p value = 0.82945
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import numpy as np
w= [[3, 2, 2, 4, 3, 5],
[4, 1, 3, 4, 4, 5],
[3, 5, 311
n = list(map(len, w))
m = list(map(np.mean, w))
u = list(map(lambda x: np.var(x, ddof=1), w))
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print("n ,

n)

n = [6, 6, 3]

print("m =",

m)

m = [3.1666666666666665,

3.5,

3.6666666666666665]

print("u =", u)

u = [1.3666666666666667,

1.9,

1.3333333333333333]

from xtest import oneway_ANOVA2

d = oneway_ANOVA2(n, m, u) # T —J 3 FE

One-way analysis of means(not assuming equal variances)
F = 0.19301, dfl = 2, df2 = 5.9323, p value = 0.82945

e = oneway_ANOVA2(n, m, u, var_equal=True) # JTT — Y REFE

One-way analysis of means

F = 0.18947, dfl =2, df2 = 12, p value = 0.82982

4 BEED Python BIE & DLLE scipy.stats. f oneway ()

Python |21%, scipy.stats.f oneway() 2°% %,

SIBDE 27555, statlib.oneway ANOVA() TIX"EY X FTH 525, scipy.stats.f_oneway() TlIi
BDV) AL TH 2D TEEPLE,

%72, scipy.stats.f oneway() &0 EERE L 2BETH D, ol KE LR OBEIZTEIE L 72\,



from scipy.stats import f_oneway

f_oneway([3, 2, 2, 4, 3, 5],
(4, 1, 3, 4, 4, 51,
[3, 5, 31D

F_onewayResult(statistic=0.18947368421052635, pvalue=0.8298224452842657)

c = oneway_ANOVA(C[[3, 2, 2, 4, 3, 5],

[4, 1, 3, 4, 4, 5],

[3, 5, 3]], var_equal=True)
print ("F =", c["F"])

"

print("p value =", c["pvalue"])

One-way analysis of means

F = 0.18947, dfl =2, df2 = 12, p value = 0.82982
F = 0.18947368421052632

p value = 0.8298224452842657

5 2BDBAD oneway ANOVAQ) & t test()

from xtest import t_test
x = [3,2,5,4,3,6,5,8]
y: [413’2’6’5]

d

t_test(x, y)

Welch Two Sample t-test

t = 0.50918, df = 9.9668, p value = 0.62171

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: [-1.68898, 2.68898]

sample estimates: mean of x = 4.5, mean of y = 4

print(lltAZ =" , d["t"]:’:;‘:z)

t72 = 0.2592592592592593

g = oneway_ANOVA([x, y1)

One-way analysis of means(not assuming equal variances)
F = 0.25926, dfl =1, df2 = 9.9668, p value = 0.62171

print("F =", g["F"])

F = 0.25925925925925924



